








CE 124 .
Fall 2014 Midterm #1

Problem 3 (15 pts)
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6x12 ALASKAN CEDAR SEL. STRUCT
Em =Ct = ClL = 10
TRIBUTARY WIDTH = 8.0 ft

Based on the diagram above, find the following:

a) Find the demand-capacity ratio for bending, D/C = f,/F',

b) Using the full beam depth, find the demand-capacity ratio for shear, D/C= f.,/F',
¢) Find the (D + Lr) deflection ratio, L/A

d) Is the beam adequate? What controls the design?
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Based on the diagram above, find the following:

a) Whatis the effective cantilever length le?

b) What is the slenderness ratio R for the cantilever?

¢) Given Cu= 0.94, whatis F'y for the cantilever?

d) Find the demand-capacity ratio for cantilever bending, D/C = fo/F's

e) Sketch the load pattern giving the highest value of M* for the back span.
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